SPECIAL MEETING

Monday, July 29, 1971, 5:00 P.M.

A Special Meeting of the City-County Council of Indianapolis-Marion County convened in the Council Chambers of the City-County Building at 6:10 P.M., on Monday, July 29, 1971.

President Hasbrook in the chair.

The Clerk read the call for the Special Meeting as follows:

July 22, 1971

TO THE MEMBERS OF THE CITY-COUNTY COUNCIL, INDIANAPOLIS, INDIANA:

GENTLEMEN:

You are hereby notified that there will be a SPECIAL MEETING of the CITY-COUNTY COUNCIL held in the Council Chamber on Thursday, July 29, 1971, at 5:00 P.M., the purpose of such SPECIAL MEETING being to receive communications from the Mayor and other City-County officials, and to consider for passage City-County General Ordinance Numbers 156 and 157, 1971.

Respectfully,

THOMAS C. HASBROOK, President, City-County Council

I, Marjorie H. O'Laughlin, Clerk of the City-County Council of the City of Indianapolis, Indiana do hereby certify that I have served the above and foregoing notice to each and every member of the City-County Council prior to the time of such SPECIAL MEETING pursuant to the rules.

In Witness Whereof, I have hereunto affixed my signature and caused the seal of the City of Indianapolis to be affixed.

MARJORIE H. O'LAUGHLIN City Clerk

SEAL

The Clerk called the roll:

Present: Mr. Boyd, Mr. Broderick, Mr. Brown, Mr. Byrum, Mr. Cottingham, Mr. Egenes, Mr. Forestal, Mr. Gorham, Mr. Leak, Mr. McPherson, Mr. Neal, Mr. Ser-Vaas, and President Hasbrook.

Absent: Rev. Williams.

Mr. Gorham moved, seconded by Mr. McPherson, to dispense with the reading of the Journal of the previous meeting, which passed by unanimous voice vote.

ORDINANCES ON SECOND READING

Mr. Cottingham called for a second reading of General Ordinance No. 156, 1971.

The Clerk read the ordinance for the second time.

Mr. Cottingham moved, seconded by Mr. Leak, to amend the ordinance.

Mr. Forestal requested a recess. President Hasbrook recessed the Council until the fall of the gavel, at 6:40 P.M.

The Council reconvened at 9:15 P.M.

After discussion, Mr. Cottingham withdrew his motion to amend and Mr. Leak withdrew his second to the motion.

Mr. Cottingham moved, seconded by Mr. Leak, to amend the ordinance to read as follows:

CITY-COUNTY GENERAL ORDINANCE NO. 156, 1971, AS AMENDED

AN ORDINANCE fixing the salaries to be paid all elected and appointed officers and employees of the various townships in Marion County, Indiana, pursuant to I.C. 1971, 17-4-28.

BE IT ORDAINED BY THE CITY-COUNTY COUNCIL OF THE CITY OF INDIANAPOLIS AND OF MARION COUNTY, INDIANA:

Section 1. The maximum salaries to be paid all elected and appointed officers and employees of the various townships in Marion County, Indiana, excluding Justices of the Peace, Constables, Township Assessors and the deputies and employees of the township assessors, are hereby fixed at the amounts hereinafter stated in this ordinance pursuant to the authority and duly established by I.C. 1971, 17-4-28, each of which salaries is not more than the amount recommended for that position by the Township Advisory Board, and is not less than the minimum salary provided by law.

Section 2. The maximum salaries of the elected and appointed officers and employees of Center Township, Marion County, Indiana, for the calendar and fiscal year beginning January 1, 1972, and ending December 31, 1972, are fixed as follows:

	Rate of
Position	Compensation
1 Township Trustee	\$ 7,350.00
1 Township Clerk	5,250.00
3 Members of the Advisory Board @ \$300 each	900.00
2 Clerk for Justice of the Peace @ \$4,800 each	9,600.00
1 Attorney	3,000.00

Poor Relief Personnel		
3 Supervisors of Investigators	1 @ \$7,035	19,005.00
	2 @ \$5,985	
25 Investigators @ \$4,473 each		111,825.00
2 Supervisors of Other Assistants	1 @ \$5,985	10,206.00
	1 @ \$4,221	
34 Other Assistants @ \$3,780		128,520.00

Section 3. The maximum salaries of the elected and appointed officers and employees of Decatur Township, Marion County, Indiana, for the calendar and fiscal year beginning January 1, 1972, and ending December 31, 1972, are fixed as follows:

	Rate of
Position	Compensation
1 Township Trustee	\$ 2,000.00
1 Township Clerk	850.00
3 Board Members @ \$150.00	450.00
Poor Relief Personnel	
1 Supervisor of Investigators	3,780.00

Section 4. The maximum salaries of the elected and appointed officers and employees of Franklin Township, Marion County, Indiana, for the calendar and fiscal year beginning January 1, 1972, and ending December 31, 1972, are fixed as follows:

Position	Rate of Compensation
	•
1 Township Trustee	\$ 2,000.00
1 Township Clerk	1,000.00
3 Members of the Advisory Board @ \$150.00	450.00
Poor Relief Personnel	
1 Investigator	1,200.00

Section 5. The maximum salaries of the elected and appointed officers and employees of Lawrence Township, Marion County, Indiana, for the calendar and fiscal year beginning January 1, 1972, and ending December 31, 1972, are fixed as follows:

	Rate of
Position	Compensation
1 Township Trustee	\$ 4,000.00
1 Township Clerk	3,000.00

3 Members of the Advisory Board @ \$250.00 each	750.00
1 Clerk for Justice of the Peace	4,800.00
1 Asst. Clerk for Justice of the Peace	4,800.00
Fire Department Personnel	
4 Paid Chauffeurs @ \$7,014 each	28,056.00
Poor Relief Personnel	
1 Investigator, Full Time	3,000.00
1 Investigator, Part Time	1,080.00

Section 6. The maximum salaries of the elected and appointed officers and employees of Pike Township, Marion County, Indiana, for the calendar and fiscal year beginning January 1, 1972, and ending December 31, 1972, are fixed as follows:

	Rate of
Position	Compensation
1 Township Trustee	\$ 2,000.00
1 Township Clerk	1,000.00
3 Members of the Advisory Board @ \$100 each	300.00
1 Clerk for Justice of the Peace	1,200.00
Poor Relief Personnel	
1 Investigator	1,200.00

Section 7. The maximum salaries of the elected and appointed officers and employees of Perry Township, Marion County, Indiana, for the calendar and fiscal year beginning January 1, 1972, and ending December 31, 1972, are fixed as follows:

	Rate of
Position	Compensation
1 Township Trustee	\$ 4,200.00
1 Township Clerk	3,600.00
3 Members of the Advisory Board @ \$300 each	900.00
1 Clerk for the Justice of the Peace	\$3,000.00
Fire Department Personnel	
11 Men @ \$8,610	\$ 94,710.00
7 Men @ \$8,190	57,330.00
2 Men @ \$7,770	15,540.00
Longevity (6)	3,800.00
Total	\$171,380.00

Poor Relief Personnel

1 Supervisor of Investigators

\$ 4,800.00

Section 8. The maximum salaries of the elected and appointed officers and employees of Washington Township, Marion County, Indiana, for the calendar and fiscal year beginning January 1, 1972, and ending December 31, 1972, are fixed as follows:

	Rate of
Position	Compensation
1 Township Trustee	\$ 6,300.00
1 Township Clerk	4,800.00
3 Members of the Advisory Board @ \$300 each	900.00
2 Clerks for Justice of the Peace @ \$4,800 each	9,600.00
Fire Department Personnel	
4 First Class Firemen @ \$7,938	\$ 31,752.00
6 First Class Firemen @ \$8,043	48,258.00
1 First Class Fireman @ \$8,148	8,148.00
1 First Class Fireman @ \$8,253	8,253.00
4 First Class Firemen @ \$8,358	33,432.00
1 First Class Fireman @ \$8,568	8,568.00
2 First Class Firemen @ \$8,673	17,346.00
1 First Class Fireman @ \$8,778	8,778.00
5 First Class Firemen @ \$8,883	44,415.00
1 Fire Chief @ \$11,340	11,340.00
4 Probationary Firemen @ \$7,140	28,560.00
2 Assistant Chiefs @ \$8,925	17,850.00
Longevity	3,200.00
Poor Relief Personnel	
1 Investigator	4,473.00
1 Other Assistant	2,000.00

Section 9. The maximum salaries of the elected and appointed officers and employees of Wayne Township, Marion County, Indiana, for the calendar and fiscal year beginning January 1, 1972, and ending December 31, 1972, are fixed as follows:

	Rate of
Position	Compensation
1 Township Trustee	\$ 6,300.00
1 Township Clerk	4,200.00

3 Members of the A 1 Clerk for Justice	•	\$300	900.00 4,800.00
Poor Relief I	Personnel		
4 Investigators	1 @ \$5,985		19,215.00
	3 @ \$4,410		
1 Other Assistant			2.600.00

Section 10. The maximum salaries of the elected and appointed officers and employees of Warren Township, Marion County, Indiana, for the calendar and fiscal year beginning January 1, 1972, and ending December 31, 1972, are fixed as follows:

	Rate of
Position	Compensation
1 Township Trustee	\$ 4,200.00
1 Township Clerk/Investigator	3,600.00
3 Members of the Advisory Board @ \$300	900.00
Poor Relief Personnel	
1 Investigator/Clerk	4,000.00
Fire Department Personnel	
19 Chauffeurs @ \$7,590.45	\$144,218.55
3 Dispatchers @ \$7,167.72	21,503.16
Longevity (10)	2,500.00
Total	\$168,221.71

Section 11. The Clerk of the Council is directed to certify a copy of the salaries fixed by this ordinance to the trustees of the respective townships within three (3) days after adoption of this ordinance.

The motion to amend passed by unanimous voice vote.

Mr. Boyd, Mr. Broderick and Mr. Forestal requested permission to abstain from voting. The request was denied.

On motion of Mr. Cottingham, seconded by Mr. Leak, General Ordinance No. 156, 1971, as amended, passed on the following roll call vote: Ayes 9, viz: Mr. Byrum, Mr. Cottingham, Mr. Egenes, Mr. Gorham, Mr. Leak, Mr. McPherson, Mr. Neal, Mr. SerVaas, and President Hasbrook.

Noes 4, viz: Mr. Boyd, Mr. Broderick, Mr. Brown, and Mr. Forestal.

Mr. Cottingham called for a second reading of General Ordinance No. 157, 1971.

The Clerk read the ordinance for the second time.

Mr. Cottingham moved, seconded by Mr. Egenes, to amend General Ordinance No. 157, 1971, to read as follows:

CITY-COUNTY GENERAL ORDINANCE NO. 157, 1971, AS AMENDED

AN ORDINANCE fixing the salaries of all officers, deputies, assistants and employees, whose salaries are paid from any county fund, except those excluded by I.C. 1971, 17-1-24-18 1, and fixing the number of deputies, assistants and employees of each such office, department, commission and agency for the calendar year 1972.

BE IT ORDAINED BY THE CITY-COUNTY COUNCIL OF THE CITY OF INDIANAPOLIS AND OF MARION COUNTY, INDIANA:

Section 1. The City-County Council, having received the proposals of the various county offices and officials with respect to salaries and number of personnel and having considered the recommendations of the Board of Commissioners, adopt this ordinance pursuant to I.C. 1971, 17-1-24-18. 3.

Section 2. The maximum salary authorized for each officer, deputy, assistant and employee, whose salary is paid from any county fund, except judges of courts, employees and attaches of courts and prosecuting attorneys and their deputies and assistants, and the maximum salary authorized for each officer, deputing, assistant and courts and prosecuting attorneys and their deputies and assistants, and the maximum salary authorized for each officer, deputing, assistant and employee, whose salary is paid from any country fund.

mum number of deputies, assistants and other employees authorized for each such office, department, commission and agency is fixed as set forth in Section 4 of this ordinance.

Section 3. The salaries fixed by this ordinance except those of elected officers, are maximum salaries and no salary is less than the minimum provided by law.

Section 4. Such salaries and number of personnel for the calendar year 1972 are as set forth in the following schedule, to-wit:

Office or Position	Rate Per Year
MARION COUNTY ASSESSOR	
1 Marion County Assessor	\$ 18,742.50
1 First Deputy	10,000.00
1 Second Deputy	7,340.00
1 Third Deputy	4,764.00
1 Fourth Deputy	5,085.00
MARION COUNTY ASSESSOR	
(INHERITANCE TAX DEPARTMENT)	
1 Chief Inheritance Tax Deputy	9,010.00
1 Second Deputy	5,481.00
1 Clerk-Typist	4,885.00
1 Clerk-Typist	4,764.00
1 Stenographer	5,197.00
1 Safety Deposit Box Examiner	6,766.00
CENTER TOWNSHIP ASSESSOR	
1 Center Township Assessor	\$ 13,125.00
1 Chief Deputy	12,896.00
1 Chief Real Estate Deputy	12,896.00
1 Assistant Real Estate Deputy	10,088.00
1 Chief Bus. Dep.	12,896.00
1 Chief Data Coordinator	10,088.00
4 Indust. & Comm. Fieldmen	7,800.00
1 Bldg. Permit Clerk	6,188.00
1 Supv. Plats & Records	9,672.00
1 Supv. Deeds & Trans.	7,124.00
1 Draftsman	6,500.00
1 Asst. Bus. Dep.	7,904.00
1 Second Chief Public Counter	6,136.00

1 Asst. Sec. Chief 5,876. 1 Dog Tax Clerk 5,876.	00
1 Chief IBM Operator 7,124.	
7 Key Punch Operators 5,512.	
1 Asst. IMB Sec. Chief 6,448.	
1 Supv. Vehicle Registrations 6,448.	
2 Starting Key Punch Operators 5,252.	00
3 Comm. Fieldman 5,980.	00
1 Exec. Secretary 6,448.	00
1 Supv. (Typing & Permanent Record) 5,980.	00
2 Clerk Typist Sr. 5,252.	00
3 Clerk Typists Jr. 5,044.	0.0
18 Assessing Clerks 5,304.	00
DEGLEVE MOVENING A COPCO	
DECATUR TOWNSHIP ASSESSOR	0.0
1 Assessor \$ 5,460.	
1 Administrative Manager 7,200.	
1 Typist, Mobile Home Clerk 5,000.	
1 Real Estate Business Clerk 5,000.	00
FRANKLIN TOWNSHIP ASSESSOR	
1 Assessor \$ 4,305.	00
1 Office Manager and Secretary 5,960.	
1 Senior Office Clerk 4,942.	
1 Senior Clerk Typist 5,150.	
1 Senior Clerk Typist 5,150.	
LAWRENCE TOWNSHIP ASSESSOR	
	00
1 Assessor \$ 11,025.	
1 Office Manager 8,500.	
1 Real Estate Deputy 6,500.	
1 Business Deputy 5,400.	
1 Clerk 5,100.	
1 Key Punch Operator & Typist 5,400.	.00
PERRY TOWNSHIP ASSESSOR	
1 Assessor \$ 11,025.	.00
1 Office Manager 8,000.	00
1 Chief Personal Deputy 5,460.	.00
1 Chief Real Estate Deputy 7,000.	.00
1 Business & Real Deputy 6,000.	.00
1 Key Punch & Office Business Deputy 5,600.	00
1 Key Punch & Deputy Assessing Clerk 5,460.	.00

1 Clerk Deputy	5,000.00
1 Real Estate Deputy Inside	6,200.00
DAVIS MONINGAVAD LAGRAGOD	
PIKE TOWNSHIP ASSESSOR	
1 Assessor	7,875.00
1 Administrative Clerk	7,500.00
1 Office Manager	6,300.00
1 Real Estate Clerk	6,300.00
1 Assessing Clerk	5,220.00
1 Assessing Business Clerk	5,400.00
1 Assessing Clerk	4,800.00
WASHINGTON TOWNSHIP ASSESSOR	
1 Assessor	\$ 13,125.00
1 Chief Deputy	9,000.00
1 Chief R/E Deputy	9,000.00
3 Other Deputies	8,000.00
1 Other Deputy	7,500.00
1 Supervisor of Business & Personal	7,500.00
1 Assistant Supervisor Business	5,800.00
4 Senior Clerk	5,200.00
1 Senior Clerk Typist	5,500.00
1 Draftsman	5,300.00
WAYNE TOWNSHIP ASSESSOR	
1 Assessor	\$ 13,125.00
1 Chief Deputy	9,000.00
1 Chief Real Estate Deputy	7,800.00
3 Office Deputies	6,800.00
1 Assistant to Real Estate Deputy	5,800.00
1 Supervisor Business Personal	5,800.00
1 Supervisor Mobile Homes Personal	5,800.00
2 Real Estate Assessing Clerk	5,400.00
1 Chief IBM Operator	5,400.00
1 Assistant IBM Clerk	5,100.00
2 Clerk Typist Sr.	5,100.00
• •	,
WARREN TOWNSHIP ASSESSOR	
1 Township Assessor	\$ 13,125.00
1 Business Personal Auditor	12,000.00
1 Chief Deputy	9,000.00
1 Chief R/E Deputy	9,000.00
1 R/E Field Deputy	7,500.00

1 Office Deputy	7,600.00
1 Office Deputy	7,300.00
2 Office Deputies	6,300.00
2 Assessing Clerks	5,300.00
2 Clerk-Typists	5,100.00
MARION COUNTY AUDITOR	
1 Auditor	\$ 19,293.75
1 Chief Deputy	15,000.00
1 Second Deputy	13,000.00
1 Third Deputy	7,384.00
1 Fourth Deputy	6,396.00
1 Settlement Supervisor	9,620.00
1 Utility & Railroad Analyst	8,268.00
1 Poor Relief Supervisor	5,044.00
1 Settlement Clerk Senior	5,512.00
2 Settlement Clerks	4,368.00
1 Tax Adjustment Supervisor	6,708.00
2 Tax Adjustment Clerks	5,148.00
1 Tax Adjustment Asst. Supervisor	5,304.00
1 Transfer Drafting Supervisor	9,360.00
1 Transfer Asst. Supervisor	5,616.00
1 Transfer Clerk	4,160.00
2 Transfer Clerks	4,420.00
6 Transfer Clerks	4,628.00
2 Transfer Clerks	9,776.00
1 Drafting Asst. Supervisor	7,124.00
2 Draftsmen	5,616.00
1 Draftsman	5,876.00
1 Draftsman	6,344.00
1 Bookkeeping Supervisor	9,152.00
1 Payroll Bookkeeper	5,928.00
1 Bookkeeping Machine Operator	5,512.00
1 Bookkeeper	5,512.00
1 Bookkeeping Clerk	5,304.00
1 Bookkeeping Clerk	5,096.00
MARION COUNTY ASSESSOR	
(BOARD OF REVIEW)	
1 Clerk-Typist	\$ 4,864.00
CENTRAL DATA PROCESSING	
1 Director of Data Processing	¢ 01 690 00
1 Assistant Director of Data Processing	\$ 21,632.00 14,768.00
1 Assistant Director of Data Frocessing	14,708.00

1 Program Manager	14,612.00
2 Senior Systems Analyst	12,896.00
1 Senior Systems Analyst	11,180.00
1 Senior Systems Analyst	12,324.00
1 Junior Systems Analyst	11,180.00
1 Junior Systems Analyst	10,608.00
1 Software-Systems Specialist	14,040.00
2 Software-Systems Specialist Asst.	11,752.00
2 Senior Programmer	11,180.00
3 Senior Programmer	10,608.00
2 Junior Programmer	10,088.00
1 Junior Programmer	9,620.00
2 Junior Programmer	8,632.00
1 Computer Operations Manager	12,064.00
1 Computer Operations Asst. Manager	9,620.00
2 Lead Operator	9,152.00
2 Lead Operator	8,632.00
1 Senior Operator	8,632.00
2 Senior Operator	8,164.00
1 Senior Operator	7,696.00
4 Junior Operator	7,696.00
1 Tape Librarian	6,396.00
1 Office Manager	7,800.00
1 Key Punch Supervisor	6,656.00
8 Key Punch Verifier	5,720.00
1 Control Clerk	6,136.00
4 Processing Clerk	5,148.00
1 Staff Secretary	5,720.00
	0,.20.00
CLERK OF MARION CIRCUIT COURT	
1 Clerk	\$ 19,293.75
1 1st Deputy Clerk	11,500.00
1 2nd Deputy Clerk	•
38 Deputy Clerks	9,000.00
6 Deputy Clerks	4,608.00
1 Deputy Clerk	5,130.00
	5,064.00
2 Deputy Clerks	4,908.00
30 Deputy Clerks	4,830.00
2 Deputy Clerks 30 Deputy Clerks	5,520.00
	5,568.00
1 Deputy Clerk	5,768.00
3 Deputy Clerks	4,416.00
1 Deputy Clerk	6,960.00
5 Deputy Clerks	6,000.00

	2245
1 Deputy Clerk	6,245.00
1 Deputy Clerk	5,088.00
2 Deputy Clerks	5,340.00
MARION COUNTY COMMISSIONERS	
1 Salary of County Commissioner	\$ 14,000.00
1 Salary of County Commissioner	14,000.00
1 Record Clerk-Secretary	6,142.50
1 Office Manager	7,560.00
1 Coordinator Co. Owned Property	6,300.00
1 Maintenance Supt.	7,875.00
1 Maintenance Asst.	7,425.00
1 Maintenance Asst.	7,425.00
MARION COUNTY HOME &	
JULIETTA CONVALESCENT CENTER	
1 Superintendent	\$ 16,800.00
9 Telephone Operators	1,800.00
1 Inventory Clerk & Accets. Payable	5,044.00
1 Adm. Asst. & Personnel	12,000.00
1 Social Worker	8,000.00
1 Head Bookkeeper	5,252.00
1 Asst. Bookkeeper	4,628.00
1 Office Manager	5,876.00
1 Senior Stenographer	5,096.00
1 Head PBX Operator & Receptionist	4,212.00
1 Medicaid Claims Clerk	4,212.00
1 Administrative Intern	5,408.00
1 Chief Physician, M.D.	23,100.00
2 Medical Technician & Extern. Type I	11,232.00
2 On Call Physician, M.D.	5,600.00
1 Dentist	2,692.40
1 Podiatrist	2,297.50
6 Medical Technician & Extern. Type II	9,600.00
1 Medical Secretary & Clerk Typist	5,720.00
1 Dental Hygenist	3,120.00
1 Physical Medicine Consultant	3,600.00
1 Audiologist	2,400.00
1 Physical Therapist	11,596.00
1 Occupational Therapist	11,189.00
1 Occupational Therapy Aide	4,628.00
1 Occupational Therapy Aide Certified	5,772.00
1 Physical Therapy Aide Type III	4,212.00

1 Physical Therapy Aide Type II	4,420.00
1 Physical Therapy Aide Type I	4,628.00
1 Director of Nursing, R.N.	$12,\!272.00$
1 Professional Supvs. R.N.	10,088.00
1 Facility Supvs. R.N. (Eve.)	$9,\!672.00$
2 Facility Supvs. R.N. (Night)	9,672.00
2 Facility Supvs. R.N. (Relief)	9,672.00
1 Secretary to Supt. & Board	5,720.00
1 Adm. Assnt. & Personnel	12,000.00
1 Facility Supvs. R.N. (Day)	9,204.00
1 Clinical Coordinator R.N.	9,204.00
2 Head Nurse Supvs. L.P.N. (Night)	7,488.00
2 Head Nurse Supvs. L.P.N. (Relief)	7,488.00
4 Head Nurse Supvs. L.P.N. (Day)	7,176.00
1 Pharmacist R.P.H.	12,792.00
1 Rehab. Counselor	6,604.00
1 Nursing Admin. Senior Stenog.	5,096.00
1 Medical Adm. Clerk Typist	4,212.00
1 Medicare Ward Clerk	4,212.00
1 Lab. Tech. & X-Ray Tech.	5,616.00
1 Clinic Ward Clerk	4,212.00
2 Medical Tech. & Extern. Type II	3,200.00
1 Facility Supvs. R.N. (Night)	9,672.00
1 Medicaid Ward Clerk	4,212.00
1 Dietician Ada.	10,660.00
1 Supvs. Food Service & Relief	5,876.00
1 Supvs. Food Prep. & Spl. Diets	8,320.00
1 Butcher	3,976.00
1 Executive Housekeeper	6,396.00
1 Central Supply Storekeeper	4,888.00
1 Janitor Supvs.	4,888.00
1 Rehab. Bldg. Supvs. (Res.)	4,420.00
1 Laundry Supvs.	7,124.00
1 Physical Plant Supt.	11,232.00
1 Director of Security	6,812.00
2 Security Officers (Day)	5,876.00
6 Security Officers (Night)	6,136.00
1 Head Storekeeper	5,304.00
1 Stockroom Handler (Res.)	4,680.00
1 Barber	2,600.00
1 Beautician	5,980.00
1 Shoe Repairman	4,004.00
1 Volunteer Coordinator	5,980.00
1 Recreation & Remotivation Dir.	5,512.00
1 Societation & Remotivation Dir.	0,014.00

 2 Rotation Workers (Rehab/C) 2 Recreation Workers (Rehab/A) 1 Beauty School Worker 2 Rotation Worker (Rehab/C) 		1,200.00 3,600.00 2,600.00 1,200.00
MARION COUNTY SOIL AND WATER		
CONSERVATION DISTRICT		
1 Executive Secretary	\$	5,895.00
1 Technician		7,680.00
MARION COUNTY COOPERATIVE		
EXTENSION SERVICE		
1 Extension Agent Admn.	\$	9,500.00
1 Extension Agent—Horticulture		7,750.00
1 Home Demo. Agent—Program Director		7,550.00
1 Extension Agent—Agr.		6,850.00
1 Home Demo. Agent		4,450.00
1 Extension Agent—Youth		6,400.00
1 Home Demo. Agent		5,250.00
1 Extension Agent—Ornml. Hort.		6,750.00
1 Home Demo. Agent		4,500.00
1 Extension Agent—Youth		5,350.00
1 Extension Agent—Youth		4,750.00
1 Extension Agent—Youth		5,050.00
1 Extension Agent—Youth Program Director		7,250.00
1 Extension Agent—Youth		4,600.00
1 Teen Program Development—Youth		4,200.00
1 Executive Secretary		6,188.00
1 Secretary, Sr.		5,148.00
1 Secretary, Sr.		5,564.00
1 Clerk-Typist, Sr.		4,628.00
1 Clerk-Typist, Sr.		4,888.00
1 Secretary, Sr.		5,356.00
1 Secretary, Sr.		5,564.00
1 Secretary		4,836.00
1 Secretary		4,836.00
1 Secretary, Sr. (Vacant)		5,408.00
MARION COUNTY CORONER		
1 Coroner	\$	10,237.50
6 Hospital Deputies	Ψ	5,400.00
1 Chief Hospital Deputy		1,200.00
1 Physician Deputy		1,200.00
- F 0		_,

4	Deputy Coroners	6,350.00
	Chief Administrative Deputy	8,268.00
1	Administrative Secretary	6,396.00
1	Medical Steno (Coroner's Office)	5,772.00
1	Medical Steno (Autopsy Div. MCGH)	5,252.00
	Special Deputies (Paid \$12.00 per run)	3,600.00
		,
MAR	RION COUNTY ELECTION BOARD	
3	Election Board Members	\$ 1,000.00
2	Election Board Clerks	5,400.00
	Election Board Machine Supervisor	9,000.00
	Election Board Machine Assistant Supervisor	7,800.00
	Election Board Machine Assistant Supervisor	6,000.00
	Election Board Machine Mechanics	3,780.00
•	Diceron Board Machine Mechanics	5,100.00
TMT A 10	ION COUNTY LAIL #10	
	RION COUNTY JAIL #18 Executive Officer	# 15 000 00
		\$ 15,880.00
	Majors	12,800.00
	Captains	11,920.00
	Bldg. Engineer	12,140.00
	Lieutenants	10,934.00
	Sergeants	10,222.00
	Corporals	9,746.00
	Deputies	9,020.00
	Deputies	8,553.00
	Deputies	7,000.00
	Reserve Deputies	5.00
36	Detectives	10,521.00
	Matrons	$7,\!160.00$
1	Juvenile Investigator	9,182.00
	Civilian Personnel	5,440.50
10	Garage	7,909.20
3	Professional Fees	8,881.00
REC	ORDERS OFFICE	
	Recorder	\$ 13,781.25
	1st Deputy Administrator	10,140.00
	2nd Deputy Technician Sr.	7,124.00
	Secretary, Sr.	5,772.00
	Accounting Clerk, Sr.	5,096.00
	Cashier, Sr.	5,096.00
	Cashier, Sr.	4,836.00
	Accounting Clerk	4,368.00
	Oloring Oloring	*,500.00

2 Micro Film & U.C.C. Chief Clerks	5,096.00
3 Micro Film & U.C.C. Clerk, Sr.	4,836.00
2 Kard-Veyer Operators, Sr.	4,628.00
3 Clerk & Clerk Typist	4,420.00
1 Clerk-Typist, Sr.	4,628.00
1 Photo Operator, Sr.	4,888.00
1 Photo Operator, Sr.	4,420.00
2 Photo Service Operators	2,400.00
1 Vacation Clerk (3 Months)	990.00
1 Special Technician Personal for	
Micro-Filming Backlog of Records	7,500.00
SHERIFF	
1 Sheriff	\$ 20,000.00
1 Major	12,320.00
1 Captain	11,440.00
1 Lieutenant	10,454.00
3 Sergeants	7,956.00
18 Deputies	7,098.00
2 Accounting Clerk, Sr.	6,192.00
1 Accounting Clerk, Jr.	5,725.00
4 Clerks, Sr.	4,675.00
1 Head Clerk Sr.	4,966.00
1 Secretary	5,199.00
4 Deputies (Weigh Trucks)	7,556.00
1 Captain (Eagle Creek)	11,440.00
1 Lieutenant	7,098.00
3 Sergeants	6,819.00
11 Deputies	6,640.00
1 Disp. Clerk	5,088.00
4 Sergeants (City-County Lock-up)	6,500.00
32 Deputies (City-County Lock-up)	6,200.00
COUNTY SURVEYOR	
1 County Surveyor	\$ 13,760.7 5
1 First Deputy	8,517.60
1 Second Deputy	7,152.60
1 Design Supervisor	7,560.00
2 Chief of Party	7,480.20
2 Instrumentman	6,224.40
4 Rodman/Chainman	5,350.80
1 Administrative Assistant	7,152.60
1 Clerk Typist	4,859.40
J D.	1,000.10

 \mathbf{C}

1	Graduate Engineer	10,017.00
2	Draftsman—SR/Grade	5,953.50
2	Draftsman—JR/Grade	5,580.75
1	Drainage Supervisor	7,480.20
OU	NTY TREASURER	
1	Treasurer	\$ 19,293.75
1	First Deputy	15,000.00
1	Second Deputy	12,500.00
1	Delinquent Property Tax Collector	9,204.00
1	Staff Accountant	7,800.00
2	Department Supervisor	6,812.00
2	Executive Secretary	6,188.00
5	Department Supervisor	5,876.00
2	Assistant Supervisor	5,616.00
1	Department Supervisor	5,356.00
1	Administrative Clerk	5,304.00
1	Department Supervisor	5,408.00
2	Mail Processing Clerk	5,252.00
33	Taxpayer Service Clerks	5,044.00
10	Posting Clerk	4,836.00
OT	ERS REGISTRATION	
2	Board Members	\$ 10,000.00
2	Chief Deputies	7,670.00
2	IBM Supervisors	5,928.00
2	Sr. Clerks Typist-receptionist	5,720.00
2	Sr. Secretaries-correspondence	5,616.00
8	IBM Operators	5,616.00
14	Clerk Typist	5,408.00

Section 5. The schedule set forth in Section 4 of this ordinance is adopted for purposes of complying with I.C. 1971, 17-1-24-18.3 and the adoption of this ordinance is not authorization to anyone to employ or pay the maximum salary or number of employees. The council hereby specifically reserves the power, pursuant to the Consolidated First Class Cities and Counties Act, to fix the number and compensation of all county employees pursuant to the appropriations made in the annual budget.

Section 6. The County Auditor, within three (3) days of the adoption of this ordinance shall certify to each appropriate county officer or official the effect of this ordinance.

The motion to amend passed by unanimous voice vote.

On motion of Mr. Cottingham, seconded by Mr. Leak, General Ordinance No. 157, 1971, as amended, passed on the following roll call vote.

Ayes 9, viz: Mr. Byrum, Mr. Cottingham, Mr. Egenes, Mr. Gorham, Mr. Leak, Mr. McPherson, Mr. Neal, Mr. SerVaas, and President Hasbrook.

Noes 4, viz: Mr. Boyd, Mr. Broderick, Mr. Brown, and Mr. Forestal.

On motion of Mr. Gorham, seconded by Mr. Leak, the meeting adjourned at 9:40 P.M.

We hereby certify that the above and foregoing is a full, true and complete record of the proceedings of the City-County Council of Indianapolis and Marion County, held on the 29th day of July, 1971, at 5:00 P.M.

In Witness Whereof, we have hereunto subscribed our signatures and caused the Seal of the City of Indianapolis to be affixed.

ATTEST:

ATTEST: President

Margaire N. O Laughlin

(STALL) (SEAL City Clerk